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School Service Exam. (Based on Tentative Syllabus) Practice Set

Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (d)  3 1 2 3 1 21 5 3 1 5 3
4 3 5 4 3 5

         
 

45 20 249
60

     
 

 89 29 29 299 9 1 9 1 10
60 60 60 60

       

2. (c) 3 1 1 3 15 5 9 73 2 4 1
4 2 2 4 4 2 2 4
      

15 2 9 7 27 7 34 17 18
4 5 2 4 4 4 4 2 2

        

3. (d) ¢îûœ÷ìîû!…„þ þ™öìí ö„þyöì̃ y „þ’yîû ¢îû’ x!“þe«yhsþ ”)îûöìcîû
ö‰þöìëû ¢›y˜ £ëûÐ

4. (b) 5004 ÷ 139 – 6 = 36 – 6 = 30

5. (d) 0.47777 ... ... = 
47 4 430.47

90 90


 

6. (a) þ™¤y‰þ xöìBþîû î,£_› ¢‚…Äy = 99999

99999
9
  99
  61
  3899
  3756
    143

316

61

626

 !˜öì’Åëû þ™)’Åî†Å ¢‚…Äy = (99999–143) = 99856
7. (b) ¦þyîûöì“þîû öŸ¡ì †¦þ˜Åîû ö‹˜yöìîûœ !Šéöìœ˜ œvþÅ „þÄy!˜‚Ð 1857

!…ÊÞÝþyöì· “¤þyîû Ÿy¢˜„þyöìœ !¢þ™y!£ !îöìoy£ x˜%!Ûþ“þ £öìëû!ŠéœÐ
“þyîûþ™îû !îÊ!ÝþŸ îûy‹ þ™!îûîyîû ¦þyîûöì“þîû Ÿy¢˜„þyëÅ þ™!îû‰þyœ˜yîû
”y!ëûc @ùÌ£’ „þöìîû ~î‚ ¦þy£z¢îûëû ˜yöì› ˜“%þ˜ þ™öì”îû ¢,!ÜT „þöìîûÐ
²Ìí› ¦þy£z¢îûëû !Šéöìœ˜ œvÅþ „þÄy!˜‚Ð

8. (c) 300 öíöì„þ 399 þ™ëÅhsþ 100!Ýþ ¢‚…Äy 3 myîûy Öîû& ~î‚ 200
öíöì„þ 300 þ™ëÅhsþ 10!Ýþ ¢‚…Äy (203, 213, 223, ....,
293) 3 myîûy öŸ¡ì £ëûÐ ¢%“þîûy‚– !˜öì’Åëû ¢‚…Äy (100+10)
= 110!ÝþÐ

9. (d) 8 ç 24éôé~îû x˜%þ™y“þ = 1 : 3

 ¢‚…Äy=!œîû †vþü 
   

 
24 1 8 3

12
1 3

  
 


10. (c) vþz_îû ö†yœyöì•Å ¢)ëÅöì„þ îvþü ö”…yëû Ÿ#“þ„þyöìœÐ
11. (b) 40 ‹˜ Šéyöìeîû îëûöì¢îû ¢›!ÜT = 40×15 = 600 îŠéîû

10 ‹˜ ˜“%þ˜ Šéye ¦þ!“Åþ £öìœ (40+10) îy 50 ‹öì̃ îû

îëûöì¢îû ¢›!ÜT = 50×15.2 = 760 îŠéîû

˜“%þ˜ Šéyeöì”îû îëûöì¢îû †vþü 760 600 160 16
10 10


  

îŠéîû
12. (b) ~„þ!Ýþ þ™îû›y’%öì“þ íyöì„þ ¢›¢‚…Ä„þ ö²ÌyÝþ˜ ç £zöìœ„þÝþÆ̃ Ð
13. (c) •!îû– A ç Béôé~îû öî“þ˜ 3x ç 5x Ýþy„þy

3x 200 13
5x 200 21


 


îy– 65x – 63x = 200(21–13) îy– x = 800
  AAéôé~îû öî“þ˜ (3x) = 3 × 800 = 2400 Ýþy„þy

14. (b) !¦þöìëû“þ˜yöì›îû þ™)îÅ̃ y› !Šéœ £zöì̈ y‰þ#˜Ð
15. (c) oy!‡›y öîû…yîû ¢öìîÅyF‰þ ›y˜ 180°Ð
16. (a) ²Ìöì”öìŸîû ¢öìîÅyF‰þ Ÿy¢„þ £öìœ˜ îûy‹Äþ™yœÐ

17. (a) !Ýþ!¦þîû vþzêþ™y”˜ îÄëû 1005750 5000
115

    
 

 Ýþy„þy

vþzêþ™y”˜ îÄëû 30% îyvþüöìœ £ëû

1305000 6500
100

    
 

 Ýþy„þy

~î‚ !îe«ëû›)œÄ 20% îyvþüöìœ £ëû

1205750 6900
100

    
 

 Ýþy„þy

 ö›yÝþ œy¦þ = (6900–6500) = 400 Ýþy„þy
18. (b) òG¤þy!¢îû îûy!˜ !îÊöì†vþó ~îû ö˜e# !Šéöìœ˜ œ"# ßþºy›#˜yí˜Ð
19. (a) ò›y˜%¡ìó £œ ~„þ!Ýþ “þqî Ÿ·Ð
20. (b) ö¢rÝþÆyœ îûy£z¢ !îû¢y‰Åþ £z̃ !ÞÝþ!ÝþvþzÝþ ç!vþŸyîû „þÝþöì„þ xî!ßþi“þÐ

21. (c) 12 !œÝþyîû !›×öì’ ‹œ xyöìŠé 112 2
6

    !œÝþyîû ç

xÄy!¢vþ xyöìŠé = (12 – 2) = 10 þ!œÝþyîû

!›×öì’ xyîûç x !œÝþyîû xÄy!¢vþ ‘þyœöìœ– 
2 1

10 x 8




îy– x = (16 – 10) = 6 !œÝþyîû

22. (c) ²Ì!“þ !œÝþyîû ‹œéôé!›!×“þ ”%öì•îû !îe«ëû›)œÄ

100 208
120 3

    
 

 Ýþy„þy

  ”%• ç ‹öìœîû x˜%þ™y“þ 
20 20: 10 2 :1
3 3

    
 

23. (b) “þîûœ öëy†„þœyîû vþz”y£îû’ £œ îû_«Ð



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 10– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20222

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

24. (c) •!îû– ößþËyöì“þîû †!“þ ‡^ùÝþyëû x þ!„þ!› 10(9+x) = 20(9–x)
îy– 3x = 9– îy– x = 3 !„þ!›
 ëyeyþ™öìíîû ”)îûc = 10×(9+3) = 120 !„þ!›

25. (d) ¢yöìœy„þ¢‚öìÙÕöì¡ì xyöìœy„þŸ!_« îû*þ™yhsþ!îû“þ £ëû îûy¢yëû!˜„þ
Ÿ!_«öì“þÐ

26. (b) îy!¡ìÅ„þ ¢%öì”îû £yîû r% •îûy £öìœ–
150 2 r 1500 3 r 288

100 100
    

îy– 4800r = 288×100  
288 100r 6%

4800
  

27. (b) þ™”yöìíÅîû îûy¢yëû!˜„þ •öì›Åîû ‹˜Ä ”yëû# £zöìœ„þÝþÆ̃ Ð
28. (d) xy¢öìœîû (5 – 3) × 16% îy– 32% = 960 Ýþy„þy

  xy¢œ   960100% 100 3000
32

    
 

 Ýþy„þy

29. (a) •!îû– ¢‚…Äy”%!Ýþ x ç y (x > y)
x2 – y2 = 580 ç x + y = 58

2 2x y 580x y 10
x y 58
    


30. (c) œîöì’îû ‹œ#ëû oî’ öíöì„þ œî’öì„þ þ™,í„þ „þîûy ëyëû þ™y“þ˜
þ™kþ!“þ myîûyÐ

31. (d) îûöìvþîû ÷”‡ÅÄ = ‡îû!Ýþîû „þöì’Åîû ÷”‡ÅÄ

2 2 220 5 4 441 21      !›Ýþyîû
32. (a) The patient was advised by the doctor not to

eat rice.
33. (b) Passenger
34. (b) fox
35. (b) for
36. (a) broke down
37. (c) intimidate
38. (c) repay
39. (c) call on
40. (a) scanty
41. (c) prologue
42. (c) take a lift
43. (d) Universal
44. (c) illuminated
45. (d) reconciles with the majority views and gives

us his own
46. (d) To be in a bad mood
47. (a) Dhruv said, “I am sick and tired of working

for this company.”
48. (b) Enhance a student's communicative skill
49. (a) F. G. French
50. (d) All of these
51. (b) By using mother tongue
52. (b) Syntagmatic

53. (b) beggars
54. (a) Parallel quotation
55. (c) ›”˜öì›y£˜ ›yœöìîÄîû vþzöì”Äyöì† 1918 !…ÊÞÝþyöì· òë%_«²Ìöì”Ÿ

!„þ¡ìy’¢¦þyó †öìvþü çöìàþÐ
56. (d) þòxy!” îÊyáþ¢›yöì‹îûó ö˜“þy !Šéöìœ˜ ö”öìîw˜yí àþy„%þîûÐ
57. (b) þ¢%î’Åöìîû…y ç …îû„þy£z ˜”#îû ¢‚öìëy†ßþiöìœ †öìvþü çàþy öœï£

£zßþ™y“þ ö„þw!Ýþ £œ ‹y›öìŸ”þ™%îûÐ î“Åþ›yöì̃  ~!Ýþ Gþyvþü…öì[þ
xî!ßþi“þÐ

58. (c) þý“%þ› þ™¤Äy‰þyîû ˜„þŸyîû ²Ìí› ¦þy† ²Ì„þy!Ÿ“þ £ëû 1862 !…ÊÞÝþyöì·Ð
~îû îû‰þ!ëû“þy £öìœ˜ „þyœ#²Ì¢§¬ !¢‚£Ð

59. (a) „þa„þ ˜,“þÄ÷ìŸœ#!Ýþ vþz_îû ¦þyîûöì“þîûÐ ~!Ýþîû ¢)‰þ˜y £öìëû!Šéœ
vþz_îû²Ìöì”Ÿ öíöì„þÐ ¦þyîû“þ̃ yÝþÄöì›îû ¢)‰þ̃ y £öìëû!Šéœ “þy!›œ˜yvþYöì“þ
~î‚ „þíy„þ!œîû ¢)‰þ̃ y £öìëû!Šéœ ö„þîûöìœÐ

60. (c) ¦)þéôéþ™,öìÛþ ßþºy¦þy!î„þ îyëû%îû ‰þyþ™ 76 ö¢!› þ™yîû”hßþöì½þîû ¢öìD
¢›y˜ £ëûÐ

61. (b) STP ö“þ 6.022 × 1023 !Ýþ O2 x’%îû xyëû“þ˜ £öìî 22.4
!œÝþyîûÐ

62. (c) ¦þyîû“þ¢¦þyîû ²Ìí› ¢¦þyþ™!“þ !Šéöìœ˜ „,þ¡Œöì›y£˜ îöì̈ Äyþ™y•ÄyëûÐ
¢%öìîûw˜yí îÄy˜y!‹Å ç xy˜¨öì›y£˜ î¢% 1876 ¢yöìœ
¦þyîû“þ¢¦þy ²Ì!“þÛþy „þöìîû̃ Ð

63. (b) ~„þ!Ýþ †Äyöì¢îû vþz¡Œ“þy– xyëû“þ˜ ~î‚ ‰þyþ™ ëíye«öì› 0°C, V0

~î‚ P £öìœ ‰þyþ™ !ßþiîû öîûöì… vþz¡Œ“þy 1°C „þîûöìœ †Äy¢!Ýþîû

xyëû“þ˜ £öìî 0
1V 1

273
  
 

64. (d) ò¦þy˜Åy„%þœyîû !œÝþyöìîû‰þîû ö¢y¢y£z!Ýþó 1850 !…ÊÞÝþyöì· ²Ì!“þ!Ûþ“þ
£ëûÐ

65. (a) þ™!îûöìîŸ ˜y£zÝþÆy¢ x:y£zöìvþîû vþzþ™!ßþi!“þîû ²Ì•y˜ vþzê¢ £œ
!vþ˜y£z!ÝþÆ!šþöì„þŸ˜Ð

66. (c) öÝþÆ̃  ”%!Ýþîû xyöìþ™!Çþ„þ †!“þöìî† = 45 – 35 = 10 !„þ!›/
‡^ùÝþy
²Ìí› öÝþÆ̃ !Ýþ 2 ‡^ùÝþyëû ö†öìŠé = 35 × 2 = 70 !„þ!›

 !m“þ#ëû öÝþÆ̃ !Ýþ ²Ìí› öÝþÆ̃ !Ýþöì„þ •öìîû öšþœöìî 
70 7
10

 

‡^ùÝþy þ™öìîûÐ
 !Ÿëûyœ”£ öíöì„þ = 45 × 7 = 315 !„þ!› ”)öìîû öÝþÆ̃  ”%!Ýþîû
¢yÇþyê £öìîÐ

67. (b) ‹y“þ#ëû !ŸÇþy þ™!îû¡ì” †!àþ“þ £ëû 1906 !…ÊÞÝþyöì·Ð ¢öì“þÄw˜yí
àþy„%þöìîûîû ¢¦þyþ™!“þöìc 92 ‹˜ ¢”¢Ä !˜öìëû ~!Ýþ †!àþ“þ £ëûÐ

68. (a) “þ!vþüê öœþ™˜ „þîûyîû vþzöìjŸÄ £œ îlßþîû ö¢ï¨ëÅ ç ßþiy!ëûc
î,!kþÐ

69. (c) !˜öìîûÝþ •y“þî îöìœîû ›öì•Ä ö†yœy„þyîû †“Åþ íy„þöìœ ~î‚
îœ!Ýþöì„þ †îû› „þîûöìœ †öì“Åþîû xyëû“þ˜ îyvþüöìîÐ

70. (a) ò£z!“þ£y¢›yœyó @ùÌsþi!Ýþîû îû‰þ!ëû“þy £öìœ˜ vþz£z!œëûy› ö„þ!îûÐ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

71. (d) 9899 99
99

 = (99 × 99) + 98 = 9899

72. (b) ¦þyîûöì“þîû öœï£›y˜î îœy £ëû ¢”Åyîû îÍÔ¦þ¦þy£z þ™ÄyöìÝþœöì„þÐ
~Šéyvþüy !“þ!˜ ò¢îÅ¦þyîû“þ#ëû þ™îû#Çþyîûó ‹˜„þ !£¢yöìîç þ™!îû!‰þ“þÐ
ßþºy•#˜ ¦þyîûöì“þîû !“þ!˜ ²Ìí› vþzþ™ ²Ì•y˜›sþf# “þíy ßþºîûyÜTÉ›sþf#îû
”y!ëûc þ™yœ˜ „þöìîûöìŠé˜Ð

73. (d) ö„þwŸy!¢“þ xMþéöìœ £y£zöì„þyÝÅþ ßþiyþ™˜ „þîûöì“þ !„þ‚îy ö„þyöì̃ y
~„þ!Ýþ x•hßþ˜ xy”yœ“þöì„þ £y£zöì„þyöìÝÅþîû ›ëÅy”yëû vþz§¬#“þ „þîûöì“þ
þ™yöìîû þ™yœÅyöì›rÝþÐ

74. (a) þ
1 3 22 3 1
4 4 3
 

1 3 2(2 3) 1
4 4 3

      
 

4 25 1
4 3

  

5 18 5 13 16 4
3 3 3 3


    

75. (b) ¦þyîûöì“þîû ²Ìy‰þ#˜“þ› !œ!…“þ ¢y!£“þÄ £œ öî”Ð öî” ‰þyîû
²Ì„þyöìîûîû £öìëû íyöì„þ ëíyéôô }„þöìî”– ë”Å%öìî”– ŸÄy›öìî”–
xíîÅöìî”Ð

76. (b) þîûy£zÝþy¢Å !î!Óþ‚ x!¦þëyöì̃  !î˜ëûéôéîy”œéôé”#öì̃ Ÿ £“þÄy „þöìîû̃
„þöì’Åœ !¢Á™¢˜öì„þÐ 1931 ¢yöìœîû 8 !vþöì¢Áºîû “¤þyîûy îûy£zÝþy¢Å
!î!Óþ‚ x!¦þëy˜ „þöìîû!ŠéœÐ ~£z ‡Ýþ˜y òx!œ¨ ë%kþó ˜yöì›
þ™!îû!‰þ“þÐ

77. (c) LPG ö“þ îÄî£*“þ ”%†Åõþë%_« ÷‹î öëï†!Ýþ £œ £zíy£zœ
›yîû„þÄyþ™Ýþy˜

78. (a) ŸœÄ !‰þ!„þê¢yëû ö‰þ“þ̃ y˜yŸ„þ !£¢yöìî 80% £z!í!œ˜ ç 20%
x!:öì‹öì̃ îû !›×’ îÄî£yîû „þîûy £ëûÐ

79. (a) 3 3 3 322 121 58 216  

3 3 322 121 58 6   

3 322 121 4  
3 22 5 3  

80. (c) þxy›œyöì”îû ”%˜Å#!“þîû “þ”hsþ „þîûyîû öÇþöìe !¢!îxy£zöì„þ
ßþºy•#˜¦þyöìî „þy‹ „þîûyîû Çþ›“þy ¢%!²Ì› ö„þyÝÅþ 1997 ¢yöìœ
îûyöìëûîû ›y•Äöì› ²Ì”y˜ „þöìîûÐ

81. (c) !ßþiîû ‹öìœ ö˜ï„þyîû öî† = 36 !„þ!›/‡^ùÝþy
ößþËyöì“þîû x˜%„)þœ + ößþËyöì“þîû ²Ì!“þ„)þœ = 36 × 2 = 72

 ößþËyöì“þîû ²Ì!“þ„)þöìœ öî† =
56

105 × 60 = 32 !„þ!›/‡^ùÝþy

 ößþËyöì“þîû x˜%„)þöìœ öî† = 72 – 32 = 40 !„þ!›/‡^ùÝþy

 ößþËyöì“þîû x˜%„)þöìœ ~„þ£z ”)îûc öëöì“þ ¢›ëû œy†öìî
60
40 × 56 = 84 !›!˜Ýþ îy 1 ‡^ùÝþy 24 !›!˜Ýþ

82. (a)þ ‹y“þ#ëû „þ‚öì@ùÌöì¢îû ²Ìí› ›!£œy ¢¦þyþ™!“þ !Šéöìœ˜ xÄy!˜
öî¢yhsþÐ !“þ!˜ 1917 ¢yöìœ „þ‚öì@ùÌöì¢îû „þœ„þy“þy x!•öìîŸöì̃
¢¦þyþ™!“þîû ”y!ëûc þ™yœ˜ „þöìîû̃ Ð ‹y“þ#ëû „þ‚öì@ùÌöì¢îû ²Ìí›
¦þyîû“þ#ëû ›!£œy ¢¦þyþ™!“þ !Šéöìœ˜ ¢öìîûy!‹˜# ˜y£zv%þÐ !ë!˜
1925 ¢yöìœ „þ‚öì@ùÌöì¢îû „þy˜þ™%öìîû x!•öìîŸöì̃  ¢¦þyþ™!“þîû
”y!ëûc þ™yœ˜ „þöìîû!ŠéœÐ

83. (c) 4 44 10000 4 44 100    

4 144 4 12 16 4     
84. (d) !‹öìî¹öìîû!œ˜ £îûöì›y˜ ²Ìöìëûy† „þöìîû !‹˜†“þ îy›˜c ”)îû „þîûy

£ëûÐ
85. (c) £zëû‚ £z!uþëûy þ™!e„þyîû ¢Á™y”„þ !Šéöìœ˜ ›£ydy †yõþ#Ð
86. (c) þéþ™,Ûþ þ™y…˜y ›yŠéöì„þ ‹öìœîû †¦þ#öìîû öëöì“þ ç ö¦þöì¢ vþzàþöì“þ

¢y£yëÄ „þöìîûÐ
87. (b) þ~œ !˜öì̃ yîû ²Ì¦þyî ö”…y ëyëû ²ÌŸyhsþ ›£y¢y†öìîûÐ
88. (a) ¦þyîûöì“þîû îûyÜTÉþ™!“þîû !˜îÅy‰þ˜ þ™kþ!“þöì“þ xyëûyîûœÄyöìuþîû ¢‚!î•y˜

öíöì„þ †,£#“þ £öìëûöìŠéÐ
89. (c) !£›y‰þœ ²Ìöì”öìŸîû î“Åþ›y˜ ›%…Ä›sþf#îû ˜y› £œ ‹ëûîûy› àþy„%þîûÐ
90. (a) òöÝþÆ̃  Ý%þ þ™y!„þhßþy˜ó @ùÌsþi!Ýþ …%Ÿîhsþ !¢‚ îû‰þ˜y „þöìîû̃ Ð

91. (b) 20 –10

13.5
9

16.5
11

3.5

 ö‡yvþüy!Ýþîû e«ëû›)œÄ 
9 4000

9 11
 



   9 4000
20

   = 1800 Ýþy„þy

92. (c) 1 Ýþy„þy ­ 50 þ™ëû¢y ­ 25 þ™ëû¢y
›)öìœÄîû x˜%þ™y“þ =  5    :   3 :   2
¢‚…Äyîû x˜%þ™y“þ =  5    :   6 :   8

 1 Ýþy„þyîû ›%oy îûöìëûöìŠé = 570 × 
5

19  = 150!Ýþ

50 þ™ëû¢yîû ›%oy îûöìëûöìŠé = 570 × 
6

19  = 180!Ýþ

25 þ™ëû¢yîû ›%oy îûöìëûöìŠé = 570 × 
8

19  = 240!Ýþ

93. (d) @ùÌ!sþi=!œ ¢î„þ!Ýþ xhsþƒÇþîûy @ùÌ!sþiÐ
94. (b) xy£z˜ x›y˜Ä xyö ì¨yœ˜„þyö ìœ •îû¢y˜y œî’éôéö†yœy

x!¦þëyöì̃ îû ö˜“,þc !”öìœ˜ ¢öìîûy!‹˜# ˜y£zv%þÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 10– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20224

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

95. (a) îy!„þ Ýþy„þy 9195 – (45 + 60 + 90) = 9195 – 195
= 9000 Ýþy„þy

 A þ™yöìî = 9000 ×
2

2 3 4 
= 9000 × 

2
9

= 2000 + 45 = 2045 Ýþy„þy

B þ™yöìî = 9000 ×
3
9 = 3000 + 60 = 3060 Ýþy„þy

C þ™yöìî = 9000 ×
4
9 = 4000 + 90 = 4090 Ýþy„þy

96. (c) ¦þyîûöì“þîû ‹y“þ#ëû ¢‚†#“þ ²Ìí›îyîû †yçëûy £ëû 1911 ¢yöìœÐ
ç£z îŠéöìîûîû „þ‚öì@ùÌ¢ x!•öìîŸöì̃  îûî#w˜yí àþy„%þîû ²Ìí›îyîû
~£z †y˜ þ™!îûöìîŸ˜ „þöìîû̃ Ð

97. (a) 20 – 10 – 
20 10

100


= 20 – 10 – 2 = 8% î,!kþ

98. (a) ‹#îy’% myîûy îöì‹ÅÄîû !îöìëûy‹˜ £œ „þöìÁ™y!ÞÝþ‚Ð
99. (c) ¦þyîûöì“þîû ¢!Mþé“þ “þ£!îöìœîû ”y!ëûc îûöìëûöìŠé îûyÜTÉþ™!“þîû £yöì“þÐ
100.(b) £#îû„þ ‰þ“%þ¦Å%þ‹ þ™!îû„þÒ˜y!Ýþ öë þ™!îûî£˜ îÄîßþiyîû ¢öìD ë%_«

ö¢!Ýþ £œ öîûœþ™íÐ

101. (d) A î£z!Ýþ !„þöì̃ !Šéœ 
100 100594
110 90

   = 600 Ýþy„þyëû

102. (a) ‹y“þ#ëû ‹îû&!îû xîßþiy ¢‚e«yhsþ ö‡y¡ì’yöì„þ 1 ›yöì¢îû ›öì•Ä
¦þyîû“þ#ëû ¢‚¢öì” x˜%öì›y!”“þ £öì“þ £öìîÐ

103. (a) ¦þyîûöì“þ ²Ìí› ¢î%‹ !î²Õî ‡öìÝþ þ™yOyöìîÐ ¦þyîûöì“þ ¢î%‹
!î²Õöìîîû ‹˜„þ £öìœ˜ ~› ~¢ ßþºy›#˜yí˜Ð

104. (d) 5   ²Ìí› ˜œ  
4 15
3 + 20
 
 

 !m“þ#ëû ˜œ  
 S²Ìí›  !m“þ#ëûV éôôôé “,þ“þ#ëû ˜œ  

12
60

“,þ“þ#ëû ˜œ!Ýþ ¦þ!“Åþ ö‰þïîyF‰þyöì„þ …y!œ „þîûöìî

60 10
(5 4) 3

 
 

 !›!˜öìÝþ

105. (d) !˜Á¬œ!œ!…“þ=!œîû ›öì•Ä ¦þyîûöì“þîû î,£_› ö„þwŸy!¢“þ xMþéœ
£œ xy¨y›y˜ ç !˜öì„þyîîû m#þ™þ™%OÐ

106. (b) 1973 ¢yöìœîû ö„þŸîy˜¨ ¦þyîû“þ# ›y›œyëû ¢%!²Ì› ö„þyÝÅþ îûyëû
!”öìëû!Šéœ þ™yœÅyöì›rÝþ ¢‚!î•yöì̃ îû ö›ïœ„þyàþyöì›y Šéyvþüy x˜Ä
¢î x‚Ÿ ¢‚öìŸy•˜ „þîûöì“þ þ™yöìîûÐ

107. (c) ¦þyîûöì“þîû ²Ìy‰þ#˜“þ› ˜#!“þ†Ò £œ þ™Mþé“þsþf– ëyîû îû‰þ!ëû“þy
£öìœ˜ !î¡%Œ Ÿ›ÅyÐ

108. (a) !”!ÍÔîû !¢‚£y¢öì̃  ²Ìí› ›%¢œ›y˜ ¢ÁËyKþ# £öìœ˜ îûy!‹ëûy
¢%œ“þy˜yÐ

109. (b) öîDyœ%îû&îû ~öìîûyöìßþ™¢ ¢‚ßþiy öîœy!ÝþÆ: ~öìîûyöìßþ™¢ ²Ìí›
¦þyîû“þ#ëû ¢‚ßþiy !£¢yöìî ¢ÄyöìÝþœy£zöìÝþîû ¢î%‹ ‹µyœy!˜
îÄîßþiyþ™˜yîû ¢šþœ þ™îû#Çþy ¢Á™§¬ „þîûœÐ

110. (d) 2022-2024 ¢yœ þ™ëÅhsþ xÄyöì¢y!¢öìëûŸ˜ xšþ ~!Ÿëûy˜

£zöìœ„þÝþÆ̃  xí!îû!Ýþöì”îû ¢¦þyþ™!“þöìcîû ”y!ëûc þ™yœ˜ „þîûöìî
¦þyîû“þÐ ”y!ëûc !Šéœ !šþ!œ!þ™öìªîû £yöì“þÐ

111. (a) £!îûëûy˜yîû =îû&@ùÌyöì› x!£›¢ !îÙ» ¦þyîû“þ# ¢‚ßþiyîû “þîûšþ öíöì„þ
¦þyîûöì“þîû ²Ìí› òçëûyÓÅþ !þ™¢ ö¢rÝþyîûó ßþiyþ™˜ „þîûy £œÐ

112. (a) ¦þyîû“þ “þíy ”!Çþ’ ~!Ÿëûyîû ²Ìí› Ÿ£îû !£¢yöìî 2050
¢yöìœîû ›öì•Ä Ÿ)̃ Ä „þyîÅ̃  !˜ƒ¢îûöì’îû œÇþÄ›yey •yëÅ „þîûœ
›£îûyöìÜTÉîû îûy‹•y˜# ›%Áºy£zÐ

113. (d) gaudy
114. (a) harmful
115. (c) deception
116. (d) unpredictable change
117. (d) show
118. (a)
119. (d)
120. (c)
121. (b)
122. (b)
123. (a) radiant
124. (b) curse
125. (a) fail
126. (c) lenient
127. (c) chaotic
128. (a) surprise
129. (b) committee
130. (c) •!îû– Öîû&öì“þ !˜ë%_« ×!›öì„þîû ¢‚…Äy = x

„þ› ×!›„þ– öî!Ÿ !”˜ SîÄyhßþy˜%þ™y“þV
(x – 3) : x :: 22 : 24  24(x – 3) = 22x
 (24x – 22x) = 72  2x = 72
 x = 36 ‹˜

131. (b) •!îû– ¦þîöì̃ îû !˜öì’Åëû vþzF‰þ“þy = x !›Ýþyîû
„þ› Šéyëûy– „þ› vþzF‰þ“þy S¢›y˜%þ™y“þV
40.25 : 28.75 :: 17.5 : x
 40.25 × x = 28.75 × 17.5

(28.75 17.5) 2875 175x
40.25 40250

 
  

25 12.5
2

  !›Ýþyîû

132. (c) îy!„þ !”˜ = (100 – 80) = 20 !”˜

îy!„þ îûyhßþyîû ÷”‡ÅÄ 
7 35
2 2

    
 

 !„þ!›

•!îû– ~…˜ ö›yÝþ ×!›„þ ¢‚…Äy = x
„þ› ÷”‡ÅÄ– „þ› ×!›„þ S¢›y˜%þ™y“þV
„þ› !”˜– öî!Ÿ ×!›„þ SîÄyhßþy˜%þ™y“þV

7 3:
:: 280 : x2 2

20 : 80






÷”‡ÄÅ

!”˜

xÄy!‰þ¦þy¢Å



5Achievers

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

7 320 x 80 280
2 2

           
   

 70x = 3 × 40 × 280
(3 40 280)x 480

70
 

  

x!“þ!îû_« ×!›öì„þîû ¢‚…Äy = (480 – 280) = 200
133. (c) î“Åþ›y˜ ›)œÄ

2
2916 25 252916 2500

27 2781
100

 
           

       

`

 ²Ì„,þ“þ Šéyvþü = ` (2916 – 2500) = ` 416
134. (b) •!îû– ²Ìöì”ëû ›)œÄ = ` x, “þy£öìœ–

(` x ~îû 6 ›yöì¢îû ¢%”V éôôôé S6 ›y¢ þ™îû ²Ìöì”ëû ` x ~îû
²Ì„,þ“þ ŠéyvþüV = ` 57.60

1x 12
1 1 2x 12 57.60

12 100 100 12
2

                          
3x 3x 5760 2883x(53 50) 50 53
50 53 100 5

         
 

(288 10 53)9x (288 10 53) x
9

 
     

 x = 16960
¢%“þîûy‚ !˜öì’Åëû •˜ = ` 16960

135. (d) î“Åþ›y˜ ›)œÄ = ` (371 – 21) = ` 350
` 350 ~îû ~„þ!Ýþ !˜!”ÅÜT ¢›öìëûîû ‹˜Ä ¢%” = ` 21
` 350 ~îû !m=’ ¢›öìëûîû ‹˜Ä ¢%” = ` 42
` (350 + 42) ~îû ²Ì„,þ“þ Šéyvþü = ` 42
` 371 ~îû ²Ì„,þ“þ Šéyvþü

= `
42 159371 39.75

392 4
    
 

136. (a) •!îû– ²Ìöì”ëû ›)œÄ = ` xÐ “þy£öìœ–
x 100

x (x 100)2 36
2 3 3100 8 100 8

2 4

      
               

      
x 25x 50x 36
2 56 53

   

 1484x + 1325x – 2800x = (2968 × 36)

 9x = (2968 × 36)  x 2968 36
9


 = 11872

¢%“þîûy‚– ²Ìöì”ëû ›)œÄ = ` 11872

137. (b) !îþ™îû#“þ !”öì„þ ëyçëûy öÝþÆ̃  ”%!Ýþîû xyöìþ™!Çþ„þ †!“þöìî† =
(75 + 60) !„þ!›/‡^ùÝþy

5135
18

   
 

 !›Ýþyîû/ö¢öì„þuþ 
75
2

  !›Ýþyîû/ö¢öì„þuþ

~£z †!“þöì“þ 8 ö¢öì„þöìuþ ëyëû 
75 8
2

   
 

= 300 !›Ýþyîû

¢%“þîûy‚ ”%!Ýþ öÝþÆöì̃ îû ÷”öì‡ÅÄîû öëy†šþœ = 300 !›Ýþyîû
~£z †!“þöì“þ = (75 – 60) !„þ!›/ö¢öì„þuþ ëyëû

515
18

   
 

 !›Ýþyîû/ö¢öì„þuþ 
25
6

  !›Ýþyîû/ö¢öì„þuþ

~£z †!“þöì“þ 30 ö¢öì„þöìuþ ëyëû 25 30 125
6

    
 

 !›Ýþyîû

•#îû †!“þîû öÝþÆöì̃ îû ÷”‡ÅÄ = 125 !›Ýþyîû
!m“þ#ëû öÝþÆöì̃ îû ÷”‡ÅÄ = (300 – 125) = 175 !›Ýþyîû

138. (d) öÝþÆ̃  ”%!Ýþîû ÷”öì‡ÅÄîû öëy†šþœ = (126 + 114) = 240
!›Ýþyîû
xyöìþ™!Çþ„þ †!“þ = (30 + 42) !„þ!›/ö¢öì„þuþ

572
18

   
 

= 20 !›Ýþyîû/ö¢öì„þuþ

!˜öì’Åëû ¢›ëû 
240
20

  = 12 ö¢öì„þuþ

139. (a) öÝþÆöì̃ îû †!“þ 
554 15

18
    
 

 !›Ýþyîû/ö¢öì„þuþ

xyöìþ™!Çþ„þ †!“þ = (54 – 6) !„þ!›/‡^ùÝþy

5 4048
18 3

    
 

 !›Ýþyîû/ö¢öì„þuþ

•!îû– öÝþÆöì̃ îû ÷”‡ÅÄ = x !›Ýþyîû
îÄ!_«öì„þ x!“þe«› „þîûöì“þ öÝþÆöì̃ îû ¢›ëû œyöì†

x 3x
(40 / 3) 40

   ö¢öì„þuþ

3x (12 40)12 x 160
40 3


    

¢%“þîûy‚ öÝþÆöì̃ îû ÷”‡ÅÄ = 160 !›Ýþyîû
•!îû ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = y !›Ýþyîû

²ÕÄyÝþšþ›Å x!“þe«› „þîûöì“þ ¢›ëû œyöì† 
(160 y)

15


  ö¢öì„þuþ

(160 y) 20 (160 y) 300 y 140
15


      

¢%“þîûy‚ ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = 140 !›Ýþyîû

140. (a) •!îû öÝþÆ̃  ”%!Ýþîû †!“þ x !›Ýþyîû/ö¢öì„þuþ ~î‚ y !›Ýþyîû/
ö¢öì„þuþ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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ë…˜ “þyîûy ~„þ£z !”öì„þ ëyëû “þ…˜ xyöìþ™!Çþ„þ †!“þ
= (x – y) !›Ýþyîû/ö¢öì„þuþ
ë…˜ !îþ™îû#“þ !”öì„þ ëyëû “þ…˜ xyöìþ™!Çþ„þ †!“þ
= (x + y) !›Ýþyîû/ö¢öì„þuþ

160
(x y)

= 60  3(x – y) = 8

 3x – 3y = 8 ...(i)
160

(x y)
= 3  3(x + y) = 160

 3x + 3y = 160 ...(ii)
(i) ~î‚ (ii) ö„þ öëy† „þîûöìœ 6x = 168  x = 28
(i) ~ x = 28 î¢yöìœ 84 – 3y = 8  3y = 76 

y = 
76
3

!˜öì’Åëû †!“þ ëíye«öì› 28 !›Ýþyîû/ö¢öì„þuþ ~î‚ 
125
3  !›Ýþyîû/

ö¢öì„þuþ
141. (c) ²Ìíöì› ›y!¢„þ xyëû = 13500 Ýþy„þy ~î‚ ›y!¢„þ xyëû =

9000 Ýþy„þy
 ²Ìíöì› ›y!¢„þ ¢Mþéëû = (13500 – 9000) = 4500
Ýþy„þy
~…˜ xyëû = 13500 Ýþy„þyîû 114%

11413500
100

   
 

= 15390 Ýþy„þy

~…˜ îÄëû 9000 ~îû 107% 1079000
100

   
 

= 9630

Ýþy„þy
~…˜ ›y!¢„þ ¢Mþéëû = (15390 – 9630) = 5760 Ýþy„þy
¢Mþéöìëû î,!kþ = (5760 – 4500) = 1260 Ýþy„þy

¢Mþéöìëû î,!kþ 
1260 100 %
4500

   
 

= 28%

142. (c) ¢#¢yîû ›yey
6050

100
   
 

= 30 !„þ@ùÌy

!Ýþöì̃ îû ›yey = (50 – 30) = 20 !„þ@ùÌy
•!îû !›!×“þ „þîûy ¢#¢yîû ›yey = x !„þ@ùÌy
ö›yÝþ !›×’ = (50 + x) !„þ@ùÌy

¢#¢yîû (30 x)% 100
(50 x)


 


 ~î‚

(30 x) 100 75
(50 x)


 



(30 x) 75 3 4(30 x) 3(50 x)
(50 x) 100 4


      



 4x – 3x = 150 – 120  x = 30
¢#¢yîû !˜öì’Åëû ›yey = 30 !„þ@ùÌy

143. (d) •!îû A ~îû î“Åþ›y˜ îëû¢ = 5x îŠéîû ~î‚ B ~îû î“Åþ›y˜
îëû¢ = 6x îŠéîû

5x 6 6
6x 6 7


 


 7(5x + 6) = 6(6x + 6)

 35x + 42 = 36x + 36  x = 6
5 îŠéîû xyöì† B ~îû îëû¢ !Šéœ = (6x – 5) îŠéîû
= (6 × 6 – 5) = 31 îŠéîû

144. (a) •!îû– =œ‹yöìîûîû î“Åþ›y˜ îëû¢ = x îŠéîû

“þy£öìœ– 
x 6
18


= (5 – 2)  x – 6 = 54  x
= 60
¢%“þîûy‚ =œ‹yöìîûîû î“Åþ›y˜ îëû¢ = 60 îŠéîû

145. (d) •!îû– !þ™“þyîû î“Åþ›y˜ îëû¢ = x îŠéîû ~î‚ þ™%öìeîû î“Åþ›y˜
îëû¢ = y îŠéîû
¢%“þîûy‚ = x + y = 99
!þ™“þyîû îëû¢ y îŠéîû– ~…˜ öíöì„þ (x – y) îŠéîû xyöì† !Šéœ
[ x – (x – y) = y]
“þ…˜ þ™%öìeîû îëû¢ [y – (x – y)] îŠéîû = (2y – x) îŠéîû
ë…˜ !þ™“þyîû îëû¢ !Šéœ (99 – x) “þ…˜ þ™%öìeîû îëû¢
= 2(99 – x) – x = (198 – 3x) îŠéîû
 (99 – x) = 4(198 – 3x)  99 – x = 792
– 12x  11x = 693  x = 63
!˜öì’Åëû x˜%þ™y“þ = (99 – 63) : 63
= 36 : 63 = 4 : 7

146. (a) ›öì̃  „þ!îû þ™%öìîûy !Ýþöì›îû †vþü îëû¢ = x îŠéîû
“þy£öìœ þ™%öìîûy !Ýþöì›îû ö›yÝþ îëû¢ = 11x îŠéîû
”%‹˜ ö…öìœyëûyöìvþüîû ö›yÝþ îëû¢ = (25 + 28) = 53 îŠéîû
˜ëû‹˜ ö…öìœyëûyöìvþüîû ö›yÝþ îëû¢ = (11x – 53) îŠéîû

(11x 53)
9


  = (x – 1)  11x – 53 = 9x – 9

 2x = (53 – 9) = 44  x = 22
þ™%öìîûy !Ýþöì›îû †vþü îëû¢ = 22 îŠéîû

147. (c) ›öì̃  „þ!îû– x ¢‚…Ä„þ ö›öìëû ~î‚ (100 – x) ¢‚…Ä„þ öŠéöìœ
þ™îû#Çþyëû îöì¢!ŠéœÐ
73x + 71 × (100 – x) = 71.8 × 100
 (73x – 71x) = (7180 – 7100)  2x = 80
 x = 40
 þ™îû#Çþyëû 40% ö›öìëû ~î‚ 60% öŠéöìœ îöì¢!ŠéœÐ

148. (d) 50 ‹˜ Šéyöìeîû †vþü ç‹˜ „þöì› = 100 @ùÌy› ²Ì!“þ ŠéyeÐ
50 ‹˜ Šéyöìeîû ö›yÝþ ç‹˜ „þöì› = (100 × 50) @ùÌy›

100 50
1000
   

 
= 5 !„þ@ùÌyÐ

‰þöìœ ëyçëûy !î”ÄyíÅ#îû ç‹˜ = 40 !„þ@ùÌy

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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˜“%þ˜ !î”ÄyíÅ#îû ç‹˜ = (40 – 5) = 35 !„þ@ùÌy
149. (b) ›öì̃  „þ!îû ¢öìîÅyF‰þ îûy˜ ¢‚…Äy = x ~î‚ ˜)̃ Ä“þ› îûy˜ ¢‚…Äy

= (x – 172)
 (48 × 38) + x + (x – 172) = (40 × 50)
 1824 + 2x – 172 = 2000  2x = (2172
– 1824) = 348
 x = 174

150. (d) 7 îŠéîû þ™)öìîÅ ßþºy›# ~î‚ ßþf#îû ö›yÝþ îëû¢ !Šéœ = (25 × 2)
= 50 îŠéîû
ßþºy›# ~î‚ ßþf#îû î“Åþ›y˜ îëû¢ = (50 + 7 × 2) = 64
îŠéîû
~…˜ ßþºy›#– ßþf# ç îyF‰þyîû ö›yÝþ îëû¢ = (23 × 3) = 69
îŠéîû
 îyF‰þyîû î“Åþ›y˜ îëû¢ = (69 – 64) = 5 îŠéîû

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————


